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This vm520 program simply sums together a list of numbers. AS_S (""4(y

The label "sum" is exported to allow the main program invoking QU VYV -
the virtual machine to retrieve the answer. 5 J’L

The labels "top" and "done" are exported to allow tests of the disassembler.

#
#
#
#
#
#
#
#

export sum
export top
export done

(‘.,‘J + @

# execution will start here (at ajdre

'PC l\-
jmp skipData &—— ¢ exec STies

S 315~ here [a he [

len

word 5
vector: w
word 1
word 2 oo
word 3 e
word 4 s
word 5 <—
skipData: ‘/
~~Tdimm _ r0, O # r0 is the loop index
' load rl, len # rl is the upperbound for the loop
ldaddr r2, vector # r2 is a pointer to an vector element
ldimm 3, O # r3 is the running sum
l1dimm r4, 1 # r4 always contains 1, the loop increment
top:
beqg rO0, rl, done # loop exit condition
ldind r5, 0(r2) # fetch wvector[i]
addi r3, r5 # add it to the sum
addi r2, rd # increment pointer
addi r0, r4 # increment loop index
jmp top
done:
store r3, sum rL(
halt -
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